Question : 21 VWhich of the following has
less unit weight

OP 1 - Sand stone /7 oS-Il
OP 2 - Marble / ¥@31HIAI
OP 3 : Granite / a)o——nsa‘

OP 4 : Basalt / Sd9Tca

Question : 22 MatchMatch List | with List |
iNn each question and select the correct
answer by using the codes given below the
two lists in each question:

gl 92T I AT/ ST J=T- 11 3 FASTT 63
3T A= It I Tl giaraArt &b ==t &2 917
HIS =hl AATIT HIH L ST 3T o ir
List-1/3=Ir-1 List Iw/3=ir-N

1. f Small pileces of stone
A. Spalls/aiEbroken of from large rock
. -~ block/TARITc & <l-1 WUs A <aT

2. /A pier buillt n the wall to

B strengthien i/&A1a1r¥ shr ATHZ=Y
Buttress/9dT 9alst &hisl b T S=ATAT I1AT
SESSES- s\
<3 JTriangular portion of
L masonry at the end of sloping
Gable/3tTdda roof/cre] <> HTFHATY a9 A=ATS
bl TATSATHIL HATIT
D 4. A covering on the top of
C- _ ., external wall exposed to
opINnYa atmosphere/argHAvsSd A ol
T gSTe ) araid &6 2N g3 31ITazor
OP 1 : a-4,b-3,c-2,d-1
OP 2 : a-3,b-4,c-1,d-2
OP 3 : a-1,b-2,c-4,d-3
OP 4 : a-1,b-2,c-3,d-4



Question : 23 Attrition test on stone is done
to find out

g2 9¥ a9y or 93iraior fAe<T grcd hiaa &

T TSharsararg
OP 1 : Compressive 'Strength / TGS
T2

OP 2 : Hardness'/ s3Il
OP 3 : Rate of Bear./ & geoT T &<

OP 4 : Toughness / diHASY9sT
Question : 24 Texture of sandstone iIs:

T[T TR b JI1de Bicll &

OP 1 : Granular Crytalline /fhfe ol G
OP 2 : Conglomeratic /, G

OP 3 : Vescular/ Jdgeid
OP 4.: None of These/ 39iaFd A O EF\'%'H@'

Question . 25 The most suitable stone for
building piers is

SHN & Wl &b folT AT 39T 92
©

OP 1 : Marble / HITHIAT

OP 2 : Lime stone / TAT-9c2Y

OP 3 : Granite / AATST

OP 4 : Sand stone / Id-9c2aX




Question : 26 Which of the following is the
reason for the decrease in the use of stones
as building material

HdeT T & T H U2 & 3TAT H FAl

et FIfi@d & 3 ld-GT RO &-

OP 1 : Steel and'R.C.C/ are less bulky and
more durable

ST 3R R.C.C./g R dlel| 331
CIERS

OP 2 :strengthr of stones cannot be
rationally analysed

TR hr. AT lfd2eyuT difhen®q  sTgl

gl gha & |

OP 3 : stones are not conveniently available
In plan

HETeAT 7 Yo 3TTTeAT | 3YcIst! o7g 8d ¢
OP 4 : All the Above / T8t




Question : 27 What is the limiting value of
Los Angeles abrasion value (in %) for
wearing courses when these aggregates
are to be used for concrete making?

g TATTT T U=N9T hghle dAY HleT A fohAT
ST IgT gidr & oI [@EYer gdg & fau, s

Ul 399YUT chi AT HIeT (% ) sIIim 2
OP1:30
OP 2: 45
OP 3:40
OP 4: 35

Question : 28 Under metamarphism, which
of the following-changes iscorrect

PN} 0T h, 33l [AHATAIRId T H T PlaT-AT
aRadeT T -

OP 1..: Granite /Changes into Gneiss
s ailol | gGoidl o

OP 2 : sand stone changes into quartzite

T[T GedYEIC SIS H Seoldl §

OP 3 : lime stone changes into marble
AT G HIHATHAT H dgelcll ol

OP 4 : All of these /3905d G




Question : 29 Marble Contains / #Aldol H
fAfgagiare

OP 1: Lime/?lf—lT

OP 2 : Lime and silica /9= 3iIX et
OP 3 : Silica / Rfaar

OP 4 : None of-these / o181 8 IS dal

Question : 30 For stones Mohs' scale is
used to be

U2RT o ToIT Hig SHT oAl T3 [hAT ST &

OP 1 : Toughness /£ dTHSYed
OP 2 : Hardnéess / oidrl

OP 3 : Flakiness Indéx{/ U¥cicX i
OP 4 : Durability /fehiagsT

Question : 31 Smith's test is performed to
determine:-

R fa@a AR Faer ITd i & fad
TEH2 <hT UAETOT ehid ©-

OP 1 : Durability / T¢ahTmaa

OP 2 : Grushing strength / Hcolad ATHT
OP 3 : Wear / &13oT (Tad<)

OP 4 : Soluble Minerals / o<l Wit




Question : 32 The process of providing
smooth face and regular face to stones is
known as-

Uc2RT Pl ol RABAT HIAa3R 30 TH g1
hT UThAT PT AT HEPSATAT &7?

OP 1 :quarrying/dals

OP 2 : pitching/MAT=aT

OP 3 : dressingfTels
OP 4 : seasoning/GMEIT

Question : 33 A brick ‘whi€h is given a
wedge like shape.to be  uUsed in the
construction of arches is/called-

T ¢ [ 8l & AAH 30T A &
ol Ueas &l a3 3 13T ST &, heclld]
- 4

OP 1 : king closer/fchaT Falloi

OP 2 : cornice brick/a1fad ¢

OP 3 : quecn closer/&FdId Fallol

OP 4 : voussoir/sic UcdY




Question : 34 Dolomite is a lime stone that
contains carbonate of magnesia up to:

SINTATSE Ueh TAT U2 & TSH3A MgCOs <hr

HTAT BT &-
OP 1: 35%
OP 2:15%
OP 3 : 25%
OP 4 : 45%

Question : 35 The . example of argillaceous
material is

HTIBTHT UGr ol 3aIelvl o-
OP 1 : Slate/Tolc

OP 2 : limcstone/T[el, U2
OP 3 : Pozzolana/ UlSiicil=lr

OP 4 : All of the above /3U<h AT

Question : 36 The specific gravity is
highest In

I 311Qa fARRFE e fraaT arar &
OP 1 : Water/areT

OP 2 : Bitumen/fagia=

OP 3 : Cutback Bitumen/ehcdd fagid
OP 4 : Tar/CX




Question : 37 A corner stone having two
faces made plane is known as

&l Ica U dAde ST 3T BT Ue2R
A &b &g H AA SATAT &

OP 1 : Quoins/dIsag|
OP 2 : Eluvium/Tofad&
OP 3 : Diluvium/TSe(faaa

OP 4 : Rubble/5349s5-HETd3

Question : 38 Which one of the/following
building material-has_least density?

fAeafaraa 3 & ier ar sady azre Saer
Odcd a3 HH &2

OP 1 : Lime stone/dl Uc2X

OP 2 : Quartz sand/Fdi&s] ol

OP 3 : Granite/3I13c
OP 4: Cement/HTHc

Question 39 An artificial stone made from
pieces of marble and cement and used for
floors, facing of wallls etc. is known as-

HTS S <b geba) 3 WMAT A a1, TSHBT aATIT
HRIT, QI &6 SHe<hl ScATIS b TAw u<h Tehar
SITAT &, hIidH T2 hodldd o-

OP 1 : Mosaic/dHlIAh

OP 2 : Terrazo/cITSIr

OP 3 : Marble/HATsIA

OP 4 : none of the above/303Ith A H bl Aol




Question : 40 The important test to be
conducted on a stone used In docks and
harbours is:

aNET 3R demal H STEAATS Sl drel Uca
R FRAT ST aTeT Tah AscaqoT UEToT S &
piT AT &2

OP 1 : Hardncsstest/@aIdr G&ioT

OP 2 : Workability test/aQiaTeadr bl UIreToT
OP 3 : Weight test/a3¥ uJrayor

OP 4 : Toughness test/Tadl gII&IoT

Question : 41.The capability of a rock or
unconsolidateds edimentito transmit water
through itsef while considering unit width
and full depth is/ under unit hydraulic
gradient called as.:

g W Ul HATRA P b Tl Teh AT AT
FHEN ST dolSchl &Jdr, SIdfch Shis diss
R, @S iseifed arer & ded) R TS W
T T<hAT ITAT &I, DY hel SATAT & |

OP 1 : Permenbility/Ardamddr

OP 2 : Transmissibility/ATaddr

OP 3 : Specific yield/fafArE sust

OP 4 : Specific retention/faRIE gfa<mor




Question : 42 When used in road work, the
coefficient of hardness of a stone should be
greater than:

Hsh @b hld H SEdATA. Bl dlel U i

HSIAT DT I0TTh THAA TP FlArATBU?
OP1:17

OP2:10
OP 3:15
OP4:12

Question : 43 The.compressive strength of
sand stone is

IoI3T UcUT hT HUls A feiaTaiad

cars] iy

OP 1 : 800 kg/cm?
OP 2 : 550 kg/cm?
OP 3 : 650 kg/cm?
OP.4.: 400 kg/cm?

Question,: 44 "4\ ... iIs a variety of
carborundum stoene'is a very hard abrasive
material.

PTEIReSH T bl Uh ThEaT T 3 Ush dagd
hol¥ TSl gary ©

OP 1 :very/UHaI

OP 2 : Coke breeze/whIh &llg

OP 3 : Clinker/@a{T

OP 4 : Gutta-percha/JdTceT gl




Question : 45 For railway ballast, the stone
should be:

Tord 91T & faw, g grer arfeu-

OP 1 : Soft with a uniform texture

TUch AT dATde b ATA3H
OP 2 : Hard, heavy, strong and durable

HI, AR, AAYA 3R ferrs

OP 3 : Hard, tough, resistant to abrasion
and durable

FOIY, [, EFYUT & TorT gladiaa 31X

([ 1] o)

OP 4 : Hard, dense, durable, tough and
easily workable

PO 3TD Hadgd ol Ehid X
ITTHTANE hI3T 3T ATAT SIT dhed dTAT

Question : 46 InBrinelllHardness Test, the
type of indentor used is?

foIe o S ar UASTOl H Thd U &l Seocc
UAIT R SIT &7

OP 1 : hard steel cone/®haIX STUTA i
OP 2 : mild steel ball/3[e sTUTT 9T

OP 3 : hard steel ball/®FaX 3¥ATd dfd

OP 4 : diamond cone/&1{h &bl




Question : 47 Which of the following
statements is correct?

AT T FIT T &2

Op 1 : Excess of alumina in _the clay
makes the brick brittle and weak.

o 3 vegfAer i rflwar @ S e aul
FHAAN g1 ATl o

Op 2 : Excess of alumina in the clay
makes the brick crack and warp on

drying

TRt A TATAAT 1 3T AFel & HROT g&=
W $C A AR /UG fahfd) Icqe a1 el g
Op 3 : Excess<of alumina in the clay
leaves high power 'deposit on the brick

HfehT A TAAL Y f8war @ ST 3=H
aq 8z 2t 2l

Op 4 .:Excess of alumina in the clay
improves impermeability and durability
of the brick.

#fawr F vegfder fr FfdFar @ e H
IIRETFIT v RTERca Jomt F G 3Hran
gl



Question : 48 On which of the following

factors the crushing strength of stone
does not depends?

A= A O gAY hT gFdisaa grad Fa ges
q¥ fersiy 1t =3 2

Op 1 : Texturc / SIac

Op 2 : Workability / §=I=dT

Op 3 : Specific gravity / TaRrse I15ca

Op 4 :: Both the texture .and sSpecific
gravity

goiTac AT TafRIse Ipsea ar=Al
Question : 49 Smith's test/of stones is
performed to find out

gy T €AY gd&orn. {S1d & & Qe
T STar -

Op 1 : The presence of soluble matter of
stone

ge2X H "ol aarer 1 sufefa
Op 2/: The compressive strength of the
stone

gAY hl gFdise Ay
Op 3 :“The hardness of the stone

Y hI FoRAT
Op 4 : The toughness of the stone/9caY
T NASIA



Question : 50 Which of the following

metamorphic rocks has the_most
weather resisting characteristics?

faFT FRTaRd aceEl A& § i acea
q9q 30 \laa & Yia s1f8F gfaed &1
I[oT T@T §?

Op 1 : Marble / TEHAIAT

Op 2 : Quartzite / &Fd{callSc

Op 3 : Slate /. Fcle

Op 4 : limestone / el e




